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BE | U = {isc#A FIT {iIyc#A
short 2 float 4 char (2 %) 1
int 21 S s o lo s HS I H)
long 4 (8) long double | 8(10)
{iryoc#A AR B 2 R EE 1 HIEE
-128 to 127
-32768 to 32767

to 9.2x1018

+(1.2x10°8 to 3.4x10%)

(2. 2x107%8 (g 1.8x10°%)
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#include <iostream>
using namespace std;

int main(void)

{

int int_ var = 1;
double float varl = 2.1;

double float var2 = 22e-1; //22x101=22
char char var = *

a ,

system(""PAUSE™) ;
return O;
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#include <iostream>
using namespace std;

int main(void)

{
double numl = 0.1;
double num2 = 2.1;
numl = numl - 0.09; //numlf&EiZ=120.01
num2 = num2 - 2.09: //num2fEzZZ520.01

cout << ""num2 — numl = " << num2 - numl << endl;
//EZEARNA "num2 - muml = 0"
system("'PAUSE™); //#5R

return O;

B ' C\Users\WUKC\documents\visual studio 2013\Prc

= 2.22845e-016



#include <iostream>
using namespace std;

int main(void)

{

IinNt numl
INt num2

3;
2;

double | result

//resultfEsz= 5215

cout << "3 7 Z =

<< result << endl;

//EZF R "3/2=15"

system("'PAUSE"); //#E%

return O;
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#include <i1ostream>
using namespace std;

int main(void)

{
int numl = 3;
Int num2 = 2;
double result / numij
cout << "3 / 2 = << result << endTl;
/@B ~AB"3/2=15"
RigeiEif (FETEE 1)
system("'PAUSE™) ;
return O: (double) num
+ = (double)(num)

double (num)
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#include <iostream>
using namespace std;

int main(void)

{

int int_var = 3; N
double float var =

char char_var = *©
E4h

cout << iInt_var;
cout << " '';

cout << float var << endl;
cout << char_var << endl;

//ETT
cout << Int var << " " << float_var << endl << char_var << endl ;

system("'PAUSE™) ;
return O;
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#l?clude <|ostream>_ cout<<*\t”: //tab
using namespace std;

el = gy o
E”t marn(vord) COUt<<"\\": //k 7\
colt<s<™\""= //°
Cout<<u\u”; //n

cout << "3 / 2 = \t" << numl / num2 << "\n"';
system("'PAUSE™) ;
return O;

Iint numl = 3
iInt num2 = 2
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Jr 3, y® E 3 & 15 .
#include <iostream> ﬁwﬁﬁ: FE+ ¥
using namespace std; cin >S var .

int main(void)

{

double numl, num2;
cin >> numl;
cin >> num2;

cout << numl << " / " << num2 << " =\t" << numl /7 num2 ;
cout << endl;

system(""PAUSE"") ;

return O;
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Int number_a = 6;

number_a>3; // true [KR]
number a>=3; // true [KRZFN]
number_a<6; // false [/MiR]
number a<=6; // true [/MRZFR]

number _a==6; // true [Z£}]
number _al=6; // false [AZR]

230 C:ADocuments and Settings\citybay
number_a > 3
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&& and

I or

! not

a&&Db allb

a b a&&b a b al|b
true true true true true true
true false false true false true
false true false false true true
false false false false false false
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1. i FIFEFIER

I FCRIETD{
R ..
}
2. if-elselfEHIE
i FCHIERTD{
} else {
}
3. if-else iFIREHIER
i F(HIETTN1){
R ..
1} else if(HERX2){
. ..

}

4. 1f-else 1Tig it 2%

(288 1){
it ...

} else (& %:42){
it ...

} else iF(&%;:43){
it ...

+

else {
it ...

+
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#include <iostream> for(BE&m; FX; EBEEN) {
using namespace std; L
BT
//FE R
int main(void) ks
{

Iint num = 1;
for

}

cout << num;

return 0; //[E{E0

system("'PAUSE™)
- EIVAS

"8 C\Users\WUKO\documents\visual stuc
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#include <iostream> for(BE&=; FE; EEIN) {
using namespace std; b
RO T
//E T
int main(void) ¥
{
Int num =
for {
}
cout << num ’ B C\Users\WU K(.\documents\ual stuc
27 =
system("'PAUSE™) ;
return 0; //[EIE0 - EI4
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#include <iostream> while(FIETZ) {

using namespace std; L
R

//ERT

int main(void) ks

{

INnt num 1;

}

cout << num;

n’ C:\Users\WUKQdocuments\ual stuc

system(""PAUSE™) ;
return 0; //[Bl{E0 - EN4ER




#include <iostream> while(FIE=) {
using namespace std;

BUEIL T
//E KT
int main(void) ¥
{

m=1;

B C\Users\WUK documents\ual stuc

cout << num;

system("'PAUSE™) ;
return 0; //[BIE0 - 2304




do-while B E

#include <iostream> do{
using namespace std; St £t

- sl 1k > .
/@R } while(FIEIRV) ;
int main(void)
{

n’ C:\Users\WUKQdocuments\ual stuc

cout << num

system(""PAUSE™) ;
return 0; //[Bl{E0 - EN4ER




do-while & E

#include <iostream> do{
using namespace std; St gt

- NITHAA > .
/JE R } while(HER) ;
int main(void)
{

n’ C:\Users\WUKQdocuments\ual stuc

cout << num

system(""PAUSE™) ;
return 0; //[Bl{E0 - EN4ER
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#include <iostream>
using namespace std;

//E R
int main(void)
{
Iint num = 1;
int 1 = 1;
while(i <= 0) {
num = num * 3;
1++;
}

cout << num;

system("'PAUSE"'") -
re 1 " C\Users\WUKC\documents\visual stt fﬁ I%E;E

l Eata T Bifdescs - - -

#include <i1ostream>
using namespace std;

[/ F =
int main(void)
{
Iint num = 1;
int 1 = 1;
do {
num = num * 3;
1++;
} while(i <= 0);
cout << num;

em(""PAUSE") ;
\WUKC\documents\visualﬂ{%O y $§ﬁ%§;ﬁ
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#include <iostream> A U N ) 5 2] R R
using namespace std; |nf| arra;ﬂ

int main(void)

{

int array_a[10];

int array b[] = { 1, 2, 3 };
const iInt array size = 10;
int array clarray_size];

system("'PAUSE™) ;
return O;
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#include <iostream>

A1 RS L )| ol

using namespace std; |n'f| arra;ﬂ

int main(void)

{

int a[10] = { 0 }; //&REJIRIERO .
for (int 1 = 0; i<10; i++) { al0] a[1] a[2] a[3] a[4] a[5] a[6] a[7] a[8] a[9]
a[i]l = i + 1;

+
system("'PAUSE™) ;

return O;

al0] a[1] a[2] a[3] a[4] a[5] a[6] a[7] a[8] a[9]
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#include <iostream> 4 B R ) F-&A) FooRL )

using namespace std;

int| array] [10] =

int array_a[2][3]; //Eﬁﬁjid\
int array b[2][3] = { { 1, 2,
{ 4, 5,
int array c[]I31 = { {1, 2, 3},
{ 4, 5, 6 } }; //791G(EsE RN
int array d[2][3] = { 0 }; //¥){H 0
const int row = 2;
const int col = 3;
int array_e[row][col];

int main(void)

{

3 1.
6 } }: 774061k

system(""PAUSE™);
return O;
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#include <iostream >
using namespace std;
int main(void)

{

const Int row = 5;
const Int col = 10;

int array[row]|[col];

for (int 1 = 0; 1 < row; 1++)

for (int j = 0; j < col; j++)
array[1]pg] = (n + 1) * g + 1);
for (int 1 = 0; 1 < row; i1++) {
for (int j = 0; j < col; j++)

cout << array[i][jJ] << "\t";
cout << endl;

System (..PAUSE. .) - B ° C\Users\WUKC\documents\visual studio 2013\Projects\c++_tutorial\Debug\c++_tutori... ﬂjé
return O;
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#include <iostream>
using namespace std;
ER =Y -

int main(void)

{

int a[2][3]:
for (int 1 = 0; 1<2; 1++)
for (int jJ = 0; J<3; j++)
alrlpgl = v * 3 + J;
for (int 1 = 0; 1<2; 1++){
for (int jJ = 0; J<3; j++)
cout << a[i1][j] << " ';
cout << endl;
+
system("'PAUSE"") ;
return O;




#include <iostream>
using namespace std;

[/ BRE i E
int main(void)
{
int array_a[2][3] = { {1, 2, 3 },
{4, 5, 6} }; /9%t
int array b[2][3] = { 1, 2, 3,

4, 5, 6 }; /9%t

system("'PAUSE"") ;
return O;
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#include <iostream >
using namespace std;

int main(void)

{

int array_a[2]1[31[4]; /7&K
/7 91R E

int array b[2][3]1I12] = { { { O, 1},
{ 2, 31},
{ 4, 5} 1},
{{ 6, 71},
{ 8, 91},
{10, 11 } } };
int array_c[2]131121 = { O, 1, 2, 3, A4,
6, 7, 8, 9, 10,

system("'PAUSE"") ;
return O;

11 };
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double a[7] = {0.2, 5.5, 9.9, 5.9, 1.6, 8.0, 5.1}:
ANHEBE19% - stTEES=E8F A — VK198 -

al0] a[1] a[2] a[3] a[4] a[5] al6] a[0] a[1] a[2] a[3] a[4] a[5] a[6]

(0.2+5.5+9.9)/3= 5.2

1. SRS 3E -

2. oM E AT 9 ZHE
EREAZWMA—ETR2A7HEF -
BWMANEFERE T -




BHRCZalBIESE=S :

» srand(time(0));

» srand(unsigned int);

EE Bﬁ% %Lﬁ’l (generating pseudo-random numbers)(1l5) , ;

B EELBIETF (include <ctime>)

// BEW Bl BiE 1

» double x = double(rand())/RAND_MAX;  // E4Z[0, 1189 FEHEEL 2

> inty =rand()%n

// BEEO~(n-1)RVEREIEL B

g ‘mesp e std;
int main(Q)

{

or (int 1 =

}

cout <<

system(""PAUSE™) ;

<< “ 7 [/ FELEO-ARyELEIELE]

return O;
s
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EE ﬁﬁ% Igl.: %ﬂ (generating pseudo-random numbewfs’)&ls) |

visual studio Y <random> :

» random_deviceE—1& " AETEEKEIZE R ER (non-deterministic

random number generator) , - BEIRIRSARMEIR AMEENE
WBIE IR - RIEDAERA -

> mt19937 LI &R TEdE )% (mersenne twister)?-‘i%L%l °
> mt19937 S B EEEDEcER - SHENSEER
= uniform_real_distribution<type> dist(min, max);
= normal_distribution<type> dist(mean, sigma);
= student_t_distribution<type> dist(N);

= poisson_distribution<type> dist(mean);
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E E BE 1:% %L %ﬂ (generating pseudo-random numbe’i‘s)(3l5) ”

i
i i .

// random_device &4l - ERZEREE - BE REFER
#include <iostream>

#include <random>
using namespace std;
int main(void) {

cout << ""min << rd.min() << endl;
cout << "max = " << rd.max() << endl;
for(int 1<10; 1++) {

¥
system(""PAUSE™) ;
return O;




// MTdEL&EE=s 24l

#include <iostream>

#include <random>

#include <ctime>

using namespace std;

int main(void) {
random_device rd

¥
system(""PAUSE™) ;
return O;

//mt19937

n

(time(0));




// MTABLEIES =S - £ " REWE . 2FH
#include <iostream>
#include <random>

' : Remark: 485 FA % LA variate_generator
#include <ctime>

4 7€ (bind) " @LEE RS ) B T BEME T

; HVEEZ  HEAEVS 20134755k
using namespace std;
int main(void) {
random_device rd;
mt19937 rng(rdQ));
uniform real<double> u(0.0, 1.0);

for (int 1 = 0; 1<10; 1++) {
cout << ugen() << endl;
+

system("'PAUSE") ;
return O;
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